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Design of Steel Struct. Lab
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Each question carries equal marks.

Perform any one experiment/study and furnish it report 

fdlh ,d ç;kxs @v/;;u dks lEiUu dja s ,oa bldk i.w kZ çfrons u

r;S kj djAa s

of examinees.

ç;kxs  dk vkoVa u ijh{kkFkh@Z ijh{kkfFk;ka s ds legw  dks YkkVW jh ds \

vk/kkj ij fd;k tk,xkA

Necessary calculations, drawings and other works shall be 

done individually.

vko';d x.kuk] vkj[s ku ,oa vU; dk;Z O;fDrxr :i ls fd;s

tk;xs As

a) Practical exercise book                    

  oxZ ea s fd;s x, i;z kxs ka s dh ifq Lrdk 

   ifj{k.k dh fof/k ,oa fu"d"kZ 

c) Viva - voce

   ekfS [kd ç'u
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2.

3.

4.

41615507 NP5010

a= 115 mm

***



2 1615507

1. A tie member ISA 100´65´8 mm carries a pull

of 150 KN. The tie is connected to a 8 mm thick

gusset plate by using fillet welds. Design the 

welded connection and draw the joint. Take 
2

T = 108 N/mm uf

ISA 100mm 150 KN 

ISA 100 ´ 65 ´ 8 mm when it is connected to its

shorter leg to gusset plate using 20 mm diameter 

rivets. Determine also tensile strength of the angle 

and draw the joint. Take s= 150 MPa. at 

ISA 100mm 8 mm 

Design and draw a single angle stout for a roof truss 

carrying a compressive load of 100 KN. The length

of struct between centre to centre is 3.65 m. 

Thickness of gusset plate = 8 mm.

 KN

following data are given below.

Size of the column = ISHB 300 @576.8 N/m.

Projection of base plate beyond the overall 

dimension of the column 

b = 100 mm; 

a= 115 mm

Size of the base plate = 500 ´475 ´25 mm

Assume the necessary data for drawing.

2.

3. 

31615507 NP5010 NP5010

4.
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